
 
 

 

 

 

 

 

PART LIST 

NO. Name Spec Qty(pcs) 

1 Carbon plate- base plate the thickness of 4mm 1 

2 Carbon plate- side plate the thickness of 2mm 2 

3 Carbon plate- top plate the thickness of 2mm 1 

4 Carbon plate- protecting plate the thickness of 1.5mm 1 

5 Knurling aluminum standoffs 21mm pink 4 

6 SMA antenna bracket Aluminum alloy parts pink 1 

7 Screw for the aluminum standoffs-up Flat M3*8 pink 4 

8 Screw for the aluminum standoffs-down Flat M3*10mm 4 

9 Pedestal screw Flat M3*6mm 1 

10 Battery Pad 20*45*2mm 1 

11 Kopis-LED Board / 1 

12 LED Board Cable 150mm 4pin GH wire *1 1 

 

1 Carbon plate 4mm 

8 Flat M3*10mm 4pc 

2 Carbon plate 2mm 

3 Carbon plate 2mm 

5 Standoffs 21MM 

9 Flat M3*6mm 1pc 

4 Carbon plate 1.5mm 

6 SMA antenna bracket 

7 Flat M3*8mm pink  4pc 

M3*6 1pcs M3*8 4pcs M3*10 4pcs SMA antenna  

bracket 1pcs 

Knurling aluminum  

Standoffs 4pcs 

10 Kopiss-LED 


